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SCHOLARS ACADEMY

[ General Awareness }

1. Bl R I S Hog= B AT 1 el HRd BT Ugell
3R THHA g FEfdd A 4 S aTE 2
Which of the following is the first and only state in India
to make rooftop rainwater harvesting mandatory?

(a) HHURE (b) iy T

Meghalaya Andhra Pradesh
© feRH (d) afferg

Mizoram Tamil Nadu

2. fFofafed & oF W arer TR ST IRRY F a6d & =4
# BT R 82
Which of the following female mosquitoes acts as a
carrier of dengue virus?

(a) HIAES (b) TSI

Mansonide aedes

() TAIhaTS (d) AR

anopheles Culex

3. PN IdE & URas & o BN ISH AT BT YURY
ay & gofe | D fovar mar ot

The launch of ‘Krishi Udaan Yojana’ for transportation of
agricultural products was announced in the budget of

the year —.
(@) 2019 (b) 2017
(c 2018 (dy 2020

4. FofiRed Ffdal § 4 o9 1870 # WRdla &% 41 5
B YR Tew 4 2
Who among the following personalities was the first
Indian member of the Indian Civil Service in 1870?

(a) AR % g (b) el daman

Nibaran Chandra Mukherjee  Pingali Venkayya

(0 fofte =g uret (d) TG IR

Bipin Chandra Pal Satyendranath Tagore

5. 1722 ® 3RT &t YagR Fafoied & 9 fow aafad & &t
T8 ot 2
To which of the following persons was the governorship
of Agra given in 17227

(a) TS il STl fRig (b) TEIER G

Sawai Raja Jagat Singh Jahandar Shah

(c) MGl (d) Hars el g Rig

Shahjahan Sawai Raja Jai Singh

6. SRe STARY HIURTA 3t $7&TT fobd 98 Huft & =
oA gs ot 2

In which year was General Insurance Corporation of India
incorporated as a company?

(@) 1972 (b) 1965

(c) 1988 (d) 1981

7. FEffed ¥ oF T 9d g e s  GERia R 2
Which of the following sports is related to 'You Thant
Cup’?

(a) cudachH (b) <@g

table tennis lawn tgnnis

(0 Ysas (d) BT

horse race Hockey

8. ffRad & 3 fory af amrée & YR HRgfve aref
(HTRIGTE) 1 R g5 &t ?

In which of the following years was the Communist Party
of India (Marxist) established in Tashkent?

(@ 1912 (b) 1909

(c) 1934 (d) 1920

9. fgfoea & Q 19 I usifear iy oo #f fRUT & 2

Which of the following hills are located in Andhra

Pradesh?
(@) UEDISl HI ygSar (b) TEEANR PI ygIfeal
Palakonda Hills . hills of mahabaleshwarw
(€) ST &I UgTisal d) afi &} gerfsar

Annamalai Hills

10. %ﬁfgﬂém&r%ﬁ'ﬂw T® & dud Fafarad & 4
?

nilgiri hills

Who among the following is the author of the book
titled 'Why | am a Hindu'?

@) RTYER (b) faFaIs
Shashi Tharoor Vikram Seth
(c WHIE Rig d) garf e

Manmohan Singh

1. FOffed & @ o1 1 Fy= 7o 37
Which of the following statements is incorrect?

(@) IS A, WSRE (b)) Hiferap A, srefoawi &
FHIYH 3R g fAofat e BT MYfef 3R =
BERSE] Pl R FRT 3

Fiscal policy deals with the Monetary policy is concerned

taxation and spending with the money supply and

decisions of the government. interest rates in the economy.

© ISP AfdABAC, (d) SR snyFE

satyarth hero

gy Hifa, ez ar fafaw srfegaritet §, g

oI SR BT A CERELANR EIRES]

SRR e AT B Yafird §, Safh WHR
Fiscal policy includes tax Iﬁ%‘ﬁﬁf?ﬁﬂ
policy, expenditure policy, IRer g

investment or disinvestment  In most modern economies,

strategy and debt or surplus  the central bank is concerned

management. with fiscal policy, while the
government is responsible
for monetary policy.

12. FEfRed # 9 319, YRA & dle ARG THH, YRA 3@

Y G I dTel/dTelt Ugdl/aeel Afidesr /2t
Who among the following was the first musician to be
awarded the Bharat Ratna, India's highest civilian
honour?

(@) UfSd iHEH TR SRt () UH SIAERAGWT

Pandit Bhimsen Gururaj Joshi  B.M Balamuralikrishna

(©) ol FIRIHR (d) THTY g

Lata Mangeshkar M / s. Subbulakshmi
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13. AR YT T de8 IR GRIFSN <lel A AR &
3TEH] BI Wi Pal Bt U
Where did American geologists Charles Weld and
Dorabji Tata discover iron ores?

(a) XISTERI 1 UGITSHl (b) SeSa
The hills of Rajhara Bailadila
(o sifarfesy (d) THSH
boriya tibhu in single

14. IS o faaw 2023 &1 4| &1 57
What is the theme of National Science Day 2023?
(a) IS A BR gY (b) TS A BR A
Global Science for Youth EREIEU
Global Science for Global
Wellbeing

(0 YISl BREGR  (d) Taileel 3HIGRM BR WER

New Technology for Future Global Innovation for Future

15. 1 30d 2023 & fob Io9 & T A o Iat A

2023" &1 JHURY fovarm 2

The Chief Minister of which state launched “School Chalo

Abhiyan 2023" on 1 April 2023?

(@) HeRIY (b) XTSI
Maharashtra Rajasthan

© AR (d) SIS
Tripura Uttar Pradesh

16. Fg WHR A fHad a9 T FW & A P TeR HA F fag

T =18 o1 g gfean fere et Ui (& & 2
The Central Government launched a new scheme 'New
India Literacy Programme' to make people above how
many years of age literate?

(@ 15 (b)y 14

() 13 (d)y 18

17. Sl A T SifEHAET 1 HRA & T B 7S B & =4
# e foban
Which actress was signed by Laneige as the first brand
face for India?

(a) SiRmT RIS (b) Srel Rt
Athiya Shetty Sonakshi Sinha
(0 IAHH DR (d) <ffar g

Sonam Kapoor Shamita Shetty

18. g@mg WHR A b8 W5 TS & T H F1ferd fobar
?

Who has been named as 'Smile Ambassador' by the
Maharashtra Government?

(a) FfeH dgaax (b) AT TMaRDBR
Sachin Tendulkar Sunil Gavaskar
(€ THTY UM (d) foxre dgh
m s dhoni Virat Kohli
19. TP ARA PRI IUY BT TSR YoiIhRUT IR R areht
gl YRR TRAET S o+l 82

Which has become the first Indian airline to achieve
market capitalization of Rs 1 lakh crore?

(a) WTEH I (b) TR e
Spice Jet Air India

(© fawrr (d) S TaRaRA
Vistara indigo airline

20. HRd BT UG Aol UTeH 3(eel 3ageT deR b Iy

R0 B3 1 9Ivon &1 &

In which state has it been announced to establish India's
first Fisheries Atal Incubation Center?

@ o (b)

Kerala Karnat§ka

(o dfHeTg (d) ST
tamilnadu Andhra Pradesh

[ Reasoning J

21. U U fawedl & © I 31&R-THE BT IG- Do o g

siget o Uy forg () & R W 31 Wb g
EFJ, FGK, GHL, HIM, ?
From the given options, select the letter-cluster which
can come in place of the question mark (?) in the
following series.
EFJ, FGK, GHL, HIM, ?

(@ UM (b) DN

() IKN (d) IKM

22. fau U YT SR Fepuf o) eyde U | a8 A gu %

HYA! H f TS BRI W 5, M gl 98 W w0 Y I
el R Tt @1t @, e ape o ferg 7 Pt & @
-8 Fspy Byl &1 i T J TIRU A4 B
hY-:
T T AR T
Tt *R TR 5
ey -
| 2t 979 TR B
Il S +ff aTer veft T 1
Read the given statements and conclusions carefully.
Assuming that the information given in the statements is
correct even if it seems to be at variance from commonly
known facts, decide which of the given conclusions
logically follow from the statements.
Statement:
All tigers are lions.
All lions are animals.
Conclusions:
I. All tigers are animals.
IIl. No tiger is bird.

(a) DHad TSHY || FTWT  (b) Tl ey | a7 Feh )
FRATRI SRR XAl §

Only conclusion Il follows. Either conclusion | or

conclusion Il follows.

(© ol fThY IR &RA  (d) Had (T5HY | SR
g FATT

Both conclusions follow. Only conclusion | follows.
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23. QW@WWW’@%'W'W@W&—
|

The relation that 'chair' has to 'wood' is the same as

'blanket' is to .
(a) WIReH (b) BT
plastic Paper
(© fowrR d) S
Bed the heat

24, 39 [9dey &1 9g BT forad g 2rec] &1 98 %H faar
T R, o o5 H 3 Yeq oo eI H HigE 81 7
Select the option which gives the order in which the
following words appear in the English dictionary.
1-Certain
2-Certify
3-Cerebral
4- Ceramic
5-Ceremony

(@) 4,3,25,1 (b)y 3,4,51,2
(© 4,3521 (d)y 4,351,2

25. 9 U A1 B 391 St T& | ST o § 3R
O G o Sge! el S Y g g1 v dfiF
B3 BT AN 61 Bl & | TS T1d B

When a number is added to its previous number and
another number is added which is double of its previous
number. So the sum of three numbers is 61. Find the

number.
(@ 16 (b) 14
(© 15 (dy 13

26. 39 ey &1 9 B, frrer e T J a8 Gey €,
S gl T BT g WA I § 3R Urdt WA H1 St
TRl

153:12:7:17:205:14

Select the option which has the same relationship with
the fourth number as the first number has with the
second number and the fifth number has with the sixth

number.

153:12:7:17:205:14
(@) 298 (b) 307
() 290 (dy 218

27. TR ER-THE UL G, o A dF frll e S 0o

%mﬁ% 3R TP U B 1 I HeR-THG BT 90 B off Fyel
I

Four letter-clusters have been given, out of which three
are alike in some manner and one is different. Select the
letter set that is different.

(@ GCY (b) OKG

(0 JFB (d) UQN

28. U i U Ufdd H SR o= &t 3k g & 96 §U B
G, | F TS AR FTAH TSI F, HF TS 3R R EF als
R A H BT 81 TG H 3R | TH-TR S T H 96 &, at
A PSR ?

Five friends are sitting in a row facing north. G is sitting
next to the right of I. F sits to the left of H and to the

Mob. - 01141676717,9312712114

right of E. If H and | are sitting adjacent to each other,
then who is sitting in the middle?

(@ F (b) H

@ | d) E

29. U Y GHIHR 1 Hferd PR & forT fobt <1 st bl

3T H el ST =1fey ?

30+28-34+2x4=2

Which two numbers should be interchanged to balance
the given equation?

30+28-34+2x4=2

(@) 30334 (b) 3434
30 and 34 34 and 4

© 43R2 (d) 28334
4 and 2 28 and 34

30. fAgifed fosll o T TSl B e &1 HH 3R S U

BT B HICH BT TRIPT GRITAT 1 | S §U BN P
e R g B ferars & 2

The following pictures show the sequence of folding a
paper and the method of cutting the folded paper. What
will the folded paper look like when it is opened?

(€ il (d) L

31. faUu U fdmedl & 9 39 S&R-THg &1 994 BN o

frafafad aoft & usraras g (7) & RIF W o ST g
TH, VJ, YM , ?, HV
Select the letter-cluster from the given options which
can come in place of the question mark (?) in the
following series.
TH, VJ,YM, ?, HV

(@) DR (b) BR

() HS (d) CQ

32. fau U Sy 3R Fshuf ) enydes ug | I8 A gu

FHY <) TS gE wet B, Udl 8 98 I ¥ ¥ J1d
T e el gt g1, 3R I8 Fufia ¥ i fag e
el & @ SF-91/3 56y HU= $1 arfhd U 9
TR el /3R 7
HY:
T g IR B
Tft Iorer IR §
.
(a) Hﬂ-ﬁg{ﬂa'?aﬁlﬁal (b) All books are pencils.
ii. PIg W IR FA AT ]I ii. No register is pen.
Read the given statements
and conclusions carefully.
Assuming that the
information given in the
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statements is true even if it
seems to be at variance from
commonly known facts, and
decide which of the given
conclusions logically follows
from the statements /do.
Statements:

All books are registers.

All registers are pencils.

Conclusion:

(© HIATHY | WU (d) B AHY ii STERT
FRAT | IRAT |

Only conclusion i follows. Only conclusion ii follows.

e Ty imAsdi (@) [ st SIIRRUT FHRd
TR AT B | gl

This follows from conclusion i Both conclusions follow.

and conclusion ii.

33. FHfaRad fdeddl § ¥ 39 [dded &1 9g49 &3, off [GT Y
Xeal & TG!S P SR 5, Ford o5 # 3 <1g 3ISH
IEHIR B femrs 2 B
Select the option from the following options that shows
the correct order of the given words, the order in which
these words appear in the English dictionary.
1-Prelude
2- Pressure
3-Presume
4-Product
5- Professor
1,2,3,54 (b)
1,2,3,4,5 (d)

34. 39 ey &1 Tu= B3 Ol A T § I UpR Gefda
8 o U R guRt T ugelt TRem ¥ Weiferd g1
9:107:8:?

—
Q
=

1,2,4,35
1,4,2,35

—
0
~

Select the option which is related to the third number in
the same way as the second number is related to the first

number.

9:107 :8:7
(@ 112 (b) 96
() 100 (d) 98

35. U Af¥d $c UMW §, CHAMPION &1 NIMHOPAC & &4
T forar ST 8 1 S IS H CHILDREN 1 35 &0 o fera
Sem?

In a certain code language, CHAMPION is written as
NIMHOPAC. How will CHILDREN be written in the same

language?
(@) RENDLIHC (b) DLIHCNER
() NRLHEDIC (d) IENRDLHC

36. dfG P ol &I Ry Bl g, ‘0. e &l Ay exar g,
'S TUN Y Y BT 8, 3R v T Bl FAfdy Brar g, ot
fgfRad sdse &1 7 a1 e
5(7S3)D3(8P6V7D11(3S13S2)P2(4159)

—
Q
~

—~
(g
~

37.

(a)
(@]

38.

(a)
(@]

39.

(a)
(@]

40.

If 'P' specifies 'Addition’, 'D". denotes 'subtraction’, 'S'
denotes multiplication, and 'V' denotes 'division’, then
what will be the value of the following expression?
5(7S3)D3(8P6)V7D11(3S13S2)P2(41S59)
39 (b) -93

21 (d) -21

T U AT B I AT T H ST 91l § 3R
D! 3 U AT H SST AT § SNt fob S STt Tem
1 2 AR, Tl S i1 SReATSHT BT ART 35 BT ¢ | 98 ST
ERIRY

When a number is added to its next number and they
are added to another number which is 2 times that next
number, the sum of these three numbers is 35. Tell me
that number.

8 (b) 6

7 (d) 9

TH M B T &, ANGER B 45 & &0 H Heds (b
STl 81 T T & CRUEL & g 0 o geas fran
SITI?

In a certain code language, ANGER is coded as 45. How
will CRUEL be coded in that language?

58 (b) 56

59 (d) 55

ferw 7T e &1 e srerTe B SR I TR BT I
B N 399 Uy g (7) B RIF W 371 Il 5
141038152050 16307

Study the given pattern carefully and select the number
which can come in place of the question mark (?) in it.
141038152050 16307

64 (b) 60

58 (d) 62

Fra € 12 il B SN & T ghe B Hied iR Al
U TS B BIeA & P BT HH ST 1T 8| BRI
T T IR 98 HY @S 22 The figures given below

show the sequence of folding a piece of paper and the
method of cutting the folded paper. How will the paper
appear when it is opened?

- P gessatguscncy
T H : . H
w . .
- . ™
H H 3
— as b
] : 1
. . @
H . =
A L [ -
s o o o
= C ]
o o o o
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Arithmetical & Numerical Ability

41. TP R B 62% G FRfea B afe v & sififéra
SN BT AT 24567 B, Y Rfdra AN Bt Tem fpa @2

62% of the population of a city is educated. If the

number of illiterate people in the city is 24567, then what

is the number of educated people?
(a) 41823 (b) 64650
() 35688 (d) 40083

42. Y aEgeit oA Ud® BT T e 2500 B 1 TP BT 5% ATH

R 91 9T 81 T o FAATDR 20% BT o g3 &,
37 GERI A% I forshl TR g1 Ul ArH 31 o |
Two articles each having cost price of Rs.2500. One is
sold at 5% profit. If overall profit is 20%, then find the
percentage profit on sale of other items.

(@ 20% (b) 25%

() 30% (d) 35%

43. FTH A DH ATIER 87 (1) 10%3R 20% P! HAF B | (2)

20% 3R 10% P A Fel

Which one is better? (1) Successive discount of 10% and
20%. (2) Successive discount of 20% and 10%.

(@) TFIgaA g (b) e =2t fmar o
Both are similar. W%I
Cannot be determined.
(© 20% 3R 10% B BB (d) 10% 3R 20% B HitH
EE acl
Sequential discount of 20% Sequential discount of 10%
and 10%. and 20%.

44. T SR G & U o A Ih! ST HT U 7 -
9 YT Safs 2ae 3R AT & U FHa &1 BT BT U
715 471 T SR fiaat & U IUasy &l 1 BT B
3UTd §dd|
The ratio of the number of marbles possessed by Tulip
and Devansh was 7 : 9 while the ratio of the number of
marbles possessed by Sheetal and Devansh was 7 : 15.
Find the ratio of the number of marbles available with
Tulip and Sheetal.

(@ 5:3 (by 5:7
(¢ 7:5 (dy 2:3

45. X, Y 3R Z 415 & q1f¥es frvm R Us Wd o 81 afe x 39

Td H 25 T BT 6 TS, Y 40 AT BI 8 AEH R Z 30
A Y R 9 1 =R1d 8, < U e fvmd B v &1 fgwn
Rl
X, Y and Z take a farm at an annual rent of Rs 415. If X
grazes 25 cows in that field for 6 months, Y 40 cows for 8
months and Z 30 cows for the whole year, then what is
2's share in the rent given?

(@ 120 (b) 154

(¢ 150 (d)y 160

46.

(a)
(@]

47.

D U ®1 ®I 18 &7 H 3 Uaha § iR £ I 1 BT 218
THY H R Fhdl 7| UG QI Up 1Y Bl 3 ol d prd
T H= H fora1 g0y o |

D can do a work in 18 days and E can do the same work
in half the time. If both work together, how much time
will they take to complete the work?

5 (b) 4

7 (d) 6

10% U o 16 THeR G B 31 Udell B o [ IqH
fora eltex urt foreman ST =fe e, fos fargror & arht &6t e
20%81?

How many liters of water should be added to 16 liters of
milk containing 10% water to dilute it so that the amount
of water in the mixture is 20%?

@ 2R (b) 4R
2 liters 4 liters
© 1R d 3R
1 liter 3 liters

48.

S UISY A 3IR B TH ¢ Pl HHRT: 45 TUT 36 Ul § R
ahd § | Al < UTSTl Y U I1Y Wi T S 8, f e
DI HIA H fobed =1 FHY R 2

Two pipes A and B can fill a tank in 45 and 36 hours
respectively. If both the pipes are opened together, how
much time will it take to fill the tank?

@ 109 (b) 209

10 hours 20 hours

(© 2dc (d) s5dc

2 hours 5 hours

49. & AT R W frd faRw I & g, 4 af siR s o &
TR TSl BT SJUT I BT

(a)
(@

50.

(a)
(@]

51.

(a)
(@]

Find the ratio of simple interests of 4 years and 8 years,
for a particular sum at a certain rate.
1:2 by 2:1
2:3 (d)y 1:4

T Afedl Udd I8 & URH H 5% Hshdig SIS &< TR 200
1 19w far TR avf & o o S9! pd Faw IR 8
gl

A woman invested Rs 200 at the beginning of each year
at 5% compound interest. At the end of the second year
his total investment amount will be

431 (b) 430.5

435 (d) 430

IR 9y 91¢ U URAR & &l Uawl &1 $dl 31 64 I8 gl |
IR TY Ugd 3! A BT A 3 : 1 YT SAGH B Y
BIC aTel i 37 1 DIV

After four years the total age of two members of a family
will be 64 years. Four years ago the ratio of their ages
was 3 : 1. Find the age of the younger one among those
two.

10 (b) 16

12 (dy 15

Mob. - 01141676717,9312712114
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52. IR IS W, X, Y 3R Z B SRIg! o8 § safeyd faan

T 8| Y BICT A Gl B ofied 22 §, Fafe wad
TSI A TReaft &1 3T 28 B 1 SHihs! &1 IR I
Fiforg?
Four numbers W, X, Y and Z are arranged in ascending
order. The average of the smallest three numbers is 22,
while the average of the largest three numbers is 28.
Find the range of the data?

(@ 19 (b)y 18

(0 17 (d) 16

53. Gt IS TEIO 9 feeeht @ g o @ e i S
T & S| STER SHB! A B 4 Km/hr 1T & | T HRA
T ST W WP 36 Km R 8, TR GHT Y Uga! g
S 1 AR T [T PIQ?

Prithi is going to Delhi by Rajdhani Express which is
running late by six minutes. The driver increases its
speed by 4 Km/hr. By doing this the train reaches the
next station which is 36 Km away on time. Find the actual
speed of the train?

20 Km/hr (b) 26 Km/hr

36 Km/hr (d) 30 Km/hr

54. U YTl 48 fobHl /eier Y dwit ¥ drgd WR 10 gel H
SOt I O R Wbl ¢ | afe I g Bl 8 Ul B
EREEEG RS EIRIGE Rl
A train running at a speed of 48 km/hr can complete its
journey in 10 hours. What should be the speed of the
train if the same distance is to be covered in 8 hours?

—
Q
=

—
(o)
~

@) 50 foHt /ger (b) 55 fopdt /EieT
50 km/h 55 km/h
(©) 45 fot /gt d) 60 fopdt /EieT
45 km/h 60 km/h

55. W RIF A Y B ah 12 [bHl/der &1 to 9 9 9
TTEfaret IeTd gU S § SR AR Argforet et gU M A
REZCIER] eﬂ?ﬂg JYSDT G MY RIF A Y B dh 1 &
T HAT 8 3R R A TR I 1T 3, ST SqSP! A7l
et B 3 10 forrfl/eer § ofR 7t &1 vare 4 el der 81
R A TR Ugd S aTad SRT?

Ram goes from place A to B by bicycle at a uniform
speed of 12 km/hr and then returns to place A by
bicycle. His friend Gopi travels by boat from point A to B
and comes back to point A, where his speed in still water
is 10 km/hr and the flow of the river is 4 km/hr. Who will
return to position A first?

() T (b) M

Gopi Ram

(€ G T g IR (d) fuiRa =gt fosar o
LR bl

both will arrive at the same cannot be determined

time

56. o GHEIY S H I G Yoireil &7 3urd 1:3 ]
3R 78 By &7 &thd 72 o At B 1 Y By &1
& 1A P |

In two similar triangles, the ratio of their corresponding
sides is 1:3 and the area of the larger triangle is 72
square cm. Find the area of the smaller triangle.

(a) 18T I (b) 8o o

18 square cm 8 square cm

(© 149 (d) 9o o

14 square cm 9 square cm

57. 16,32, 64, 128, .... S 8 BT QT 3l ... BI:
16, 32, 64, 128, ..... the 11th digit of this sequence will be:

(@) 16348 (b) 16384

(c) 16834 (d) 13684

58. IUGad I NI 31 B DI <A B, S T T & 3 T
%A,Nahu@a?r%lw@a@aﬁaﬁ@ﬁﬁgmﬂw

The above Venn diagram shows students who play 3
games M, N and L in a class. The total number of
students playing a game is-

M N

QA
2°a

O,

L
71 (b) 75
70 d) 72

—
Q
=

—
(g)
~

59. g secO+tanB8=12.5, @ secd-tand = ?
If sec®+tanB=12.5, then secO-tan® = ?
(@ 1 (b) 0.08
() 038 (d 04

60. fagaft (-1, 0) 3R (2, 6) A IS FUIAGS I 3fAR® &Y
2 1% Igurd ¥ fig R fauir far Sirar 3
The line segment joining the points (-1, 0) and (2, 6) is
divided internally at the point in the ratio 2 : 1:
@ (04 (b)y (1,3)
@ (1.4 (d (5

| HINDI |

61. WG 1 AfaRradT 5 Ut Iy B Iua Bl g,
I (1)___ S IW UBR AW HI gHd 1 Sl &
IR AR AN R E, BHgES ()
FRAT BTG Sa F R (3 Iee-gac T g 3R
I U8 Yo T § fb BT (4)_ bad 3T 34U Bl
B foram =8Y sfcs g Ara T & Shfad I A
5 gl g vl & IR SWRIed RN & YR W
ﬁm TR & e RIF (1) & o Faifie Iugad s

62. TN & fRad WM (2) & fore walftier Iuged wrsg grm-

Mob. - 01141676717,9312712114
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(a)
(@]

63.

70.

(a)
(@]

71.

(a)
(@]

72.
(a)
(@]

73.
(a)
(@]

74.

(a)

(©

Wfae (b) HARIS
RINITEY d) SfGH

e =M &1 gfd & fore Ted Iugad Teg &1 999 B
e faaR & SR &1 g |@= g angu

3 by &

faf= d) Wd

el U ST GeTar o1 et 312 g-

THd BT (b) FERI ST

T B (d) ITEAT HRAT

el gl 9 Wsg T I B

AT (b) LHHI

oA (d) guHI

fau U wreg &7 ey g | Ty

TH (b) ~Ruft

qrewd (d) >
Tarfardt Weg B GEl ST Faey|

URT-3ifer (b) Hf3-Hiar
AGHI-ASh (d) SIFT-dFa
BHI-T1 a1 TG 87 .
7 A B gars (b) T Y e €
o O B gar (d) T ARt @ gamn
el gt Tl Teg BT I B

Ty (b) TarHtHfad
wirfad (d) YT

33 T I & o UM Ffe 87 IR S 91 Bl St
e IH-9HA A1l

3B TRE (b) & B
FEAT-GHAT A1 (d) TEH

o ®H &1 gfd & o 9a¥ Iugad e &1 9 B
E;%&aaﬁ—@ 3 Fra o 3 B

(b) WBeBId
eI (d) THIHEN
U TN 31eg & fAdH 2Teg &1 T HL- A
urgt (b) S
Ta d) e
fom1 faaR foran o fay-areier & fore o iee o
Mo b) fayg
Sy (d) fayra

feu U are # Ywifed WS & ufaiitd A & fag e
IUYH fadhed BT 99 B | FfG 38 UfaATd B &t
TIRGHT 181 3, dl fabed Tt Iqard o1 3Mawadhdr Tl
2 19U Y| TAR YHTIRG! § 98 O UST 8|
Hegdpo ddbfad sl (b) fHd ggam ot

I HdT T8l 2
& 3fex S TSI g | (d) ¥ 3R TGATD g

75.

—
Q
~

—~
(g
~

76.
(a)
(@]

77.

—
Q
=~

—
(g
~

78.

(a)
(©

79.

(a)
(@]

80.

(a)
(@

81.

(a)
(@]

82.
(a)
(@

83.

(a)
(@

T 77T TR BT 98 U T B3 RrEd B Fe B 1 AR B
I TR, @ Prs I T8 & T | el & U (1)o@

IR (2)/ B E (3)/ P8 IR T’ @)
2 (b) 4
3 d) 1

fou U wrsg & T Rree @1 U B9 | Ueht
Fep!

(b) AT
G| d) 3ifer
33 T a1 & Ty WM & e 32 98T THRH ST g |
ET ATl
gl (b) ETUTI
gg gl (d) THNME &I

& T a1 H X@ifed 3w &) ufeuiid A & forw e
m?ﬁmﬁwﬁ|mﬁawmwm
T

[EGE (b) A=

3 d) T
ﬁa?mwa;m'm'wwwm
ST 82

T g7 S| (b) ST IHY mara 2|
SaeTamadd gl (d) e g IdE el
SIS a1 ara 9 # ¥ $IF @ g2

RIHR (b) SMf¥rETg

Td% (d) wmHIOE

[ English ]

Comprehension : In the following passage, some words
have been deleted. Read the passage carefully and select
the most appropriate option to fill in each blank.
Listening to Mazart can significantly increase your
intelligence, (1) to a research in America,
Unfortunately, (2) effect is temporary. It only (3) —
—— for 15 minutes. Dr Frances Rauscher (4) his
colleagues at the University of California (5) the
findings in the journal 'Nature'. Select the most
appropriate option to fill in blank no. 1.

allowing (b) according

awarding (d) acceding

Select the most appropriate option to fill in blank no. 2.
the (b) a
one (d) an

Select the most appropriate option that can substitute
the underlined word in the given sentence. He suddenly
stopped the car and the conjuring of the brakes irritated
us.

beseeching (b)
screeching (d)

stacking
snarling

Mob. - 01141676717,9312712114
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84. The following sentence has been divided into parts. One
of them may contain an error. Select the part that
contains the error the given options. If you don't find any
error, mark 'No error' as your answer. Rajeev has/
extended his leave/at one more week.

a) No error (b) at one more week

extended his leave (d) Rajeev has

—_~ o~
(o)
~

85. Select the most appropriate antonym of the given word.

Specific
(@) General (b) Exact
(¢) Limited (d) Different

86. Select the most appropriate option to fill in the blank.

Unemployment has been the most result of
recession.

(@ public (b) eminent

(¢) obvious (d) awkward

87. Select the most appropriate meaning of the given idiom.
Odd man out

(@) Person having no (b) Person with a hereditary
knowledge disease
(¢) Person who is useless (d) Person who doesn't fit
into a group

88. Select the option that can be used as a one-word
substitute for the given group of words. A disease which
affects large populations at the same time.

(@) Epidemic (b) Equinox

(¢) Endemic (d) Contagious

89. The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error. Treasure Island is/always been/ my
favourite book/ right from my childhood days.

(@) my favourite book (b) right from my childhood

days

(¢) Treasure Island is (d) always been

90. Select the most appropriate synonym of the given word.

Concise
(@) Lengthy (b) Short
(¢) Fine (d) Abrupt

91. Select the most appropriate option to fill in the blank.
Preparing for an examination needs good planning and -

(@) arrogance (b) mortality

(c) lethargy (d) confidence

92. Select the most appropriate meaning of the given idiom.
To be off the hook
(@) To be in trouble (b) To be trapped
(c) To be close to the target (d) To escape a difficult
situation

93.

—_
()
—_ =

94.
(a)
(@]

95.

(a)
(@]

96.

—_
0 QL
—_ =

97.

—
Q
=

—
(g)
~

98.

(a)
(@
99.
(a)
(©

100.

(a)
(@

101.

The following sentence has been divided into parts. One
of them may contain an error. Select the part that
contains the error from the given options. If you don't
find any error, select 'No error' as your answer. | am
wanting/to give Avika/a book on her birthday.

to give Avika (b) No error

a book on her birthday  (d) | am wanting
Select the incorrectly spelt word.

Pityful (b) Tactful
Guilty (d) Plead

Select the option that can be used as a one-word
substitute for the given group of words. The doctor who
specialises in the study or treatment of heart diseases
and heart abnormalities.
Ophthalmologist (b)
Cardiologist (d)

Neurologist
Dermatologist

Select the most appropriate synonym of the given word.

Amalgam
Distance (b) Monograph
Mixture (d) Telegram

Select the option that will improve the underlined part of

the given sentence. In case no improvement is needed,

select 'No improvement required'. The captain and his

sailors was surrounding by pirates.

was surround (b) were surrounded

were surrounding (d) No improvement
required

Select the option that can be used as a one-word
substitute for the given group of words. An animal that
preys on other animals
Hostile (b)
Omnivore (d)

Predator
Victim

Select the most appropriate option to fill in the blank.

Too much of television watching can the thinking
process of a child.

hamper (b) interrogate

instigate (d) horrify

Select the most appropriate option that can substitute
the underlined word in the given sentence. If there is no
need to substitute it, select 'No substitution required".
I'm going to Mumbai next week. A friend of myself has
invited me to her wedding.
friend of me (b)
No substitution required (d)

one of friend
friend of mine

Basic Familiarity

& & gAY ghamn # frg ®F R U aig f[agr 37
At which place in Haryana were there five Buddhist
viharas during the time of Buddha?

Mob. - 01141676717,9312712114
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(a)
(@]

102.

(@]

103.

(@]

104.

105.

106.

(a)

(@]

107.

(a)
(@]

108.

(a)

(@]

109.

SCHOLARS ACADEMY

Kalanaur
(d) Topra

Rohtak (b)
Sugh

T GYTC 3(HaR BT o H Bl AT UT?

When was the Mughal Emperor Akbar born?

SaRY, 1430 January, (b) 3, 1484 April , 1484
1430

@18 1530 July 1530 (d) TSR 1542 October

1542

R & Hiifere &= &1 gad R Hi &= a1 g?

Which is the lowest part of the geographical regions of

Haryana?
WAFHFAABT AT sand  (b)  SRITE TS & Aravalli
dune plain rocky region
TERGR d BT HGH (d) SfepTS Geiqel Ankai
undulating sand plain swamp
BRATOT ST B &1 HIT Xl 82
Which part of Haryana is sandy?
JWR-gdl YRT North- (b) FR-UMYH UNT North-
Eastern part Western part
SIEMUT-TfdH 4T South-  (d)  ER&UT-ITRY HIT South-

Western part North part

Hr3aRAT § S aTell sSRgsig A &l fovd sha o
T 82

In which lake can a bird named Barhedih coming from
Siberia be seen?

W'&fﬂﬁ Sultanpur  (b) Wgﬁa Kotla Lake
Lake

WeAIQR it Khalilpur ~ (d)  dTg-1t 3t Chandni Lake
Lake

g 7 forg f5ad # 3 o1 SrTar 781 82

In which district there is no mango horticulture in
Haryana?

AR Yamunanagar
DA Karnal

(b) Wﬂﬂ Kurukshetra
(d) II%Q‘T'G{Mahendragarh

RN & e ford & fohar! o fBider Riars ot
A & f7T I8 PR g7 fa<itg g df o 361 82
In which district of Haryana, farmers are being given
financial assistance by the state government to adopt
sprinkler irrigation system?

ST Rewari (b) II%Q‘TG Mahendragarh
¥t Bhiwani (d) I g4t All these
ghamn & agge fhy fore uftg 82
What is Mahendragarh famous for in Haryana?
TR B (3T lac (b) G lungi
bangles
HTI%_WW Leather (d) YTd T hTH Metal work
work

T | (Rrega ko) G 1| (SdTe &) BT Be $Y
A. HeTHT el ¥Hd urer Uieige 1. 660 ATETE
B. U IAMR URAISH 2. 2 BTare

Mob. - 01141676717,9312712114

(a)
(@

110.

(a)
(@]

111.

113.

(a)
(@]

114.

(a)
(@

115.

(a)
(@

C. JUIRR Y& Safagygd U 3. 1.4 HITEre
D. TIGUR SIAfdgd URANSHI 4 4 TTETC
CISACINISICIRIE
Match the List | (Power Project) List Il (Production
Capacity)

A. Mahatma Gandhi Thermal Power Project 1. 660 MW
B. Western Yamunanagar Project 2. 2 MW

C. Musapur Micro Hydroelectric Project 3. 1.4 MW

D. Dadupur Hydroelectric Project 4. 4 MW

Code ABCDABCD

1234 (by 2341

3412 (dy 4123
g & fra v i Yerd 87

How many major link railways are there in Haryana?
T three (b) TR four

i five (d) 9Td seven

T | (e G 1 s So) HT HaE B
A. GERI faumdT 1. 17 A1 1967

B. THERY fAUT T 2. 15 TS 1968

C. TR faem T 3. 3 30|, 1972

D. ol fauUaHT 4. 24 T, 1982

@I ABCDABCD & =1 § Sifsd forar mar
Match the List | (Assembly) List Il (First sitting)
A. Second Assembly 1. 17 March 1967

B. Third Assembly 2. 15 July 1968

C. Fourth Assembly 3. April 3, 1972

D. Sixth Assembly 4. June 24, 1982

coded as ABCDABCD

1234 (b) 2314
3241 d 1432
R & guw weIfddedr o A2

Who was the first Advocate General of Haryana?
§Gd IS A9 Baldev  (b)  ST§ 3THE¥I=Y Babu
Raj Mahajan Anandswaroop
ETﬂmTS'EET Hawa Singh  (d) Eﬁﬁaﬁgﬁ None of

Hooda these

YR &1 a8 DI I AT YT ST Uarad gA1d o Ugalt aR
Sl I AR (SATTH) BT SXAATd haT 7T 41?2
Which was the state in India where Electronic Voting
Machine (EVM) was first used in Panchayat elections ?
ST Rajasthan (b) BRATUM Haryana

U= USW Himachal (d) TSR Gujarat
Pradesh
TR Tepifa forg A8 o ot 82

In which month does Makar Sankranti come?
S January (b) fadsR December
A February (d) AT March

W%FITQW &ﬂﬂ-j:qUTﬁv_H Wﬁqﬁ?ﬁ%? In which part
do women wear Kadulla jewelery?

I H in the finger (b) ‘ch'_-[fl in the neck
T H on the side (d) W H in the foot
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116. 39Ted I BT AHERT Ha ST T UT?

When was the tomb of Ibrahim Suri built?
(@) 1540%. 1540 AD (b) 1532%. 1532 AD.
(©) 15387%. 1538 AD (d) 1545%. 1545 AD.

117. g1 fobar SR T/ T

Sohna Fort was built in

(@) 174 FATsc! 17th (b) 189l TdTsc 18th
century century
() 1641 XdTsc 16th (d) 199 TrdTsct 19th
century century
118.  Fofafed & @ forg wa &t gers 3 Ra-urdd ok sreft
1 Hfat 3R IS HiYTdT B HeX U g3 87

The excavations of which of the following sites have
yielded the idols of Shiva-Parvati and Kali and the seal of
King Mandhata?

(a) %ﬂﬂﬁ%ﬂﬂ?ﬁa% (b) WKapalmochan
Srikaleshwar Mahadev
Math

(c) IR &I U (d) T&HR ot Pushkar Teerth

Panchtirtha of Tosham

119.  SIUHS & THBICH HII TR HS B! THE P B I 87

Which is the main work of the contemporary poet of

Banabhatta, Mayur Bhatt?
(a) HLITD Mayurashtak (b) W Suryashtak
(© TR gHiBoth’a (d) TSFHH Chandishtakam

and 'b’

120. RN H [FPHal BT RITIT Hd §s?

When were Gurukuls established in Haryana?
(a) 1875%. 1875 AD (b) 1876%. 1876 AD.
() 1840%. 1840 AD (d) 1890%. 1890 AD

121. Which of the following is not a cognition ?

fafafed & Q o ¥9H T8 82
(@) Retreat LiE] BcHl (b) Anger &1
() Fear$X (d) Hunger {4

122. Which of the following is a better way of teaching ?
frafafed & & &1 11 Riem &1 Th dgaR dRidl 67
(@) To persuade ﬂ?ﬁ%ﬁﬁ (b) To raise a question Tdh
HaTd 36 & fore

(c) Blackboard writing (d) All of these gt

123. Which of the following is / are a component of human
development ?
Fafied # 3 $H AFe e FT TG Teh 3 / 77
(@) Continuity fFRaRar (b) Sequentiality $EEATEIAT
(c) Differentiality (d) All of these. gt
Differentiality

124. Child development is marked by three inter - related
processes. Which of the following is not a process ?

o1 faprg A SieR-Teifd ufsharell grT RAfRd 21
frofafaa & @ 1 e ufhar 761 82

Mob. - 01141676717,9312712114

(a)
(@]

(a)
(@]

126.

(a)

(@]

127.

(a)

(@

128.

(a)

(@

SCHOLARS ACADEMY

(b) Integration THIHRUT
(d) None of these sﬂﬁ J
s Aol

.............. is the process by which children and adults learn
from others.

Differentiation HGHTd
Learning g

.............. I8 Tforan & o gRT o ofR I gl &
ed gl
Socialisation ¥HISIGRUI  (b)  intermingling TRER

Friendship fian (d) All of these T gt
Which of the following statement about pedagogy is /
are correct ?

fRremRIe & IR # e ¥ I PRI FUH I 2/ ¥
Pedagogy is art as well ~ (b) Pedagogy is system

as science TRIETRIRG FHall which deals with the

& Iry-ury fagr ot 8 schools management
system, of curriculum
development and
system of instructional
procedure TRI&TRIA a8
O & S el &
EERE R UIRIACIGER|
fa ok Fd=ITTT®
gfchar &t Jorelt §
eiferd 3

It explains teaching (d) All of the above IR P

tasks in terms of qaft

presentation and dg

A & daH H Ruaor

?ﬁgﬁ B R HAT

Which of the following is one of the three type of
analysis of pedagogy in education ?

?&nﬁﬁrm%ﬁﬁw%ﬁsz@wﬁﬁ@ﬁqu
?

Pedagogical analysis of

Pedagogical analysis of  (b)
subject fawg &1 Qeffores
fa=ewor

beliefs TSI BT

AesfOres faerson

Pedagogical analysis of  (d)
emotions TGS &1

Reifores faawor

None of the above 371'3[

REIERE

Roli is unable to pronounce the worlds ' study' and
society clearly. AS her teacher what will you do ?

A T & 31T IR TS B WY T I IR 6

7 armd g1 3Hb e S FUH o 1 HYN?
Humiliate Roli by (b) Asking the entire class
isolating her and asking to repeat the words and
her to repeat the words appreciating Roli when

Rt Y STT-YTT B she repeats them

3R Y Wl BT e correctly@iﬁ&ﬂaﬂ

¥ fore HEdR Srumd el Pl GG P g

faman HET 3R AH BT RIS
PRAT TG I8 36 ol of
SN

You will just ignore it (d) You will ask the class to
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129.

130.

131.

SCHOLARS ACADEMY

3T T 3 ToR 3™ laugh at her 310 H&T 4
A I g & o et

A teacher makes use of a variety of tasks to cater to the
different learning styles of her learners. She is influenced
by

T e srom Rienlia ot faftm Rgon et &1 g
PR & T B3 THR & BT HT TN Bl | I§ 399
guIfaa §

(a) Piaget's Cognitive (b) Kohlberg's Moral
Development Theory Development Theory
fogrte &1 gD HgeraT P Afde fabr
[ECaRARFAR] frgia

(c) Gardner's Multiple (d) Vygotsky's Social -
Intelligence Theory cultural Theory
TMER $I Aeeud IR BT AT -

VRS T R
A teacher can identify a stressed child when the child
shows the following behaviour.
T e T THITIRA S B UgdH R bl § o
o T sragR fazaran 31

(@) Aggressive behaviour (b) Full concentration in
3THTHS TGER studies TgTs H I

TRl

(d) Hyperactivity Sfsbaar

(c) Excessive talking

IIfI® T HIAT

The major purpose of periodic parent - teacher
interaction is to
JOI-THG WR ATd-0d1 &1 G- 3= - 1&g sradid
FAE

(@) share the information (b)
about ongoing events in

the school Y@ d EE]

discuss the child's
strengths and
weaknesses for

RERCIHEEIISI N
133. At lower classes, play way method of teaching is based
on
e wefmafl 7 Rieor & a8 W eneia ®
(@) theory of physical (b) principal of methods of
education programmes teaching fR1emr & aie!
RN e HrRIHH H1 & T
g
(c) psychological principles (d) sociological principles of
of development and teaching Rigor &
growth fa®TT 3R fawr USRI Rigid
& HAla® Rigia
134. According to John Bowl children become depressed as a
result of
gﬁ I3A & AR Y & IRUMRGET 9= IS g S
(@) self - devaluing (b) exposure to prolonged,
cognitive scheme 4 - uncontrollable negative
3qHeTT YHTHSD experiences Td THY
IS P, IDY AHRIEAD
Yl P U H
(c) insecure attachments (d) living with depressed
SgRfard J parents J&Tg HIdT-fudr
CRIUEGE
135. What is the main purpose of 'Operation Blackboard'? '
HTRTA AP eI’ BT I 3539 1 87
(@ Improvement of school (b) making education result
facilities Tpd gfaursii o - oriented TR afvomy -
FUR S S
(c) Making teaching (d) making teaching
effective TRI&0T BT guTAT accountable for result
CEISl gRom & forg Rigmor
BEICEHSCEIE!
136. When does the most intense and crucial socialisation

takes place in a human being ?
AT B T T 3R AU THTSHHR0T o BidT 82
(@) During early childhood (b) During adulthood

132.

(a)

(@]

?ﬁ‘ﬂﬁ@f%aﬁﬁ reinforcement and
Wwﬁ improvement
3R YR & forg o= ot
e 3R HHNRAT TR
ECIERY
(c) develop a social (d) highlight each other's
relationship with each shortcomings. W—@i’
other T G¥R & 1Y Th D Bl DI IR B
AT ey fasRia
HHAT

A student of fifth class with visual deficiency should be -

T B! B! IT Urad HaT BT S ST 1M -

excused to do a lower
level of work il &R
& HIH B & o4 TG

treated normally in the
classroom and provided
support through audio
CDs WM &Y 4 Sal
TR {1 ST § R
3fitSar et & wegH

helped in routine work
by parents and friends
HTAT-faT SR Rl gRT
fafird o H Hae B
given special treatment
in the classroom @& &

faQiy Iu=R feur

Mob. - 01141676717,9312712114

B ST B SR O AT & GRM
(c) Throughout the life ofa (d) During adolescence
person Tdh Ifed &
EICERN
137. Which of the following is the most important quality of a
good primary teacher ?
AW DM U& 3 Uit Rigre &1 wadt
gyl o 82
(@) Enthusiasm of teaching (b) Patience and
tI'c.!'lef ARSI determination 9 3R
¢ Yhed
(c) Efficiency in the (d) Efficiency in teaching
knowledge of subjects methods fRrefur faferay o
faal & S H qafar Gl
138. The theory of constructivism states
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TITaTG BT Riid ard g
(@) to memorise the (b) to focus on the role of
information and testing imitation Thd BI 'ﬁ[ﬁﬁ
through recall TG & R A dHigd B &b
HIEH T 3R fog
TR&U ! ATE TG
(c) to emphasise on the (d) to emphasise the role of
dominant role of the the learner in
teacher fR1&f& @1 g9 constructing his own
YHHT IR SR &A1 view of the world gfar
F U TR0 & i
T IReH ardd 3t Yffre
W SR &1
139. In a child - centered classroom, children generally learn
T 72 B BT a1 . 5o AR W UrRad 2
(@) gdlwdually HGHTET  (b) in groups H‘{s’ﬁ
() under the guidance ofa (d) All of the above IR P
teacher wﬁmm% ot
ArfeRH |

140. Young learners should be encouraged to interact with
peers in the classroom so that

a1 Rrenfial & e T W & Iy aradid e & fog

UieIfed fopan ST a1 arfes

(@) they can learn answers (b)
to questions from each

other a@@%@fﬂ?ﬂ?ﬁ
& Sfare IRe gabal §

(c) they learn social skills in  (d)
the course of study g

T P SR JHTID
DY JEd §

141. Pankhuri odes not talk much at home but talks a lot at
school. It shows that
TGS TR TR SATET 914 el bRl & Afdp] Tl H ggd ald
a1 31 8 e} b
(@) the school provides
opportunities to
children to talk a lot

the syllabus can be
covered quickly UTédshH
DI Teg! ¥ BaR fbar
THAT g

the teacher can control
the classroom better
e Hef B IgaR &
3 frifyd R gwar g

(b) teachers demand that
children should talk a lot

at school TRT&/®1 &t AR

el g Bl g IRI 2 & o= ) st W wgd
aﬁao%ﬁ%aiwum IRY 91d HAT 918
PRl

her thoughts get
acknowledged at school
RREACEINCIRS IR
TR fobar S

(¢) she does not like her (d)
home at all 3 30T &R

focpa ude T8l &

142. Four distinctive stages of children's cognitive
development are identified by

T & GIATESD f[abTg & IR ARy R0 &t gga = ot

St §
(a) Piaget (b) Erikson
(¢) Skinner (d) Kohlberg

Mob. - 01141676717,9312712114
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143. The stage in which a child begins to think logically about
objects and events s known as

I8 TRUI ford BIS aal Alfchd U ¥ I avgsit 3R
geI3N & IR H Trerl T Rl & e 31 fbar S @

(@) sensory motor stage (b) formal operational stage

G - AR AR SR gRETe a=uT
(c) pre - operational stage  (d) concrete operational
Ud uR=Ie TRo7 stage 319 TR R0

144. Which of the following is the first step in the scientific.
method of problem - solving ?

fafefed & ¥ o9 1 de & ugen Han 8| T B
TP - B HRA?
(@) Formation of hypothesis (b) VErification of
URB G BT T3 hypothesis TR T B
S LI
(c) Problem of awareness (d) Collection of relevant
SRREGHAl & JaT information T
TSGR & TG
145. Human personality is the result of which f the following ?
Aa i Fafafaa § 3 foe £ o1 afkomm 82
(@ Only heredity Fad (b) Upbringing and
i education TRGRTT 3R
fRrarm
(c) Interaction between (d) Only environment Had
heredity and Tgfarr
environment
3R yafarur & st
H I
146. Which of the following is a domain of learning ?
frafifRd & A B a1 Fem &1 TH S R?
(a) Professional URGR (b) Experiential 3TJHATH®D

(©) Affective Iford (d) Spiritual 3eaTfEEH
FHAar

147. It is advantage of giving homework that students

U8 EHaS 2 B Y © b B

(@ remain busy at home TR (b) study at home TR TR
A o0 384 § TS BRI

(c) may be checked for (d) may develop habit of
their progress RECal self - study I 3T
I & fore it &t o DI 3MTed fadmiRg B
Thdt B qHhd §

148. In which of the following age a child is affected by
atmosphere ?

# Qg 39§ U o= IRgHSd ¥ UMIfad g

22
(@) Adult age 9UIPh 3G (b) Teen age fhaR 39
(¢) Childhood ddUdd (d) Early childhood &4+

149. Child development is defined as a field of study that
I AP B 3T & U &F o © 0 H gRuIiNd fan
e
(@) examines change in (b)
human abilities HIFd

seeks to explain
behaviour across the life
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arrarafl & uRad ot span Siia 1A § TIgR
EIEEZGIN 1 IR BT 18l §
(c) compares children to (d) account for the gradual
adults to senior citizens evolution of the child's
aﬁaﬁwmﬁﬁ cognitive, social and
AHR aNE ANIRS! dH other aspects of
development T &
AT, TS 3R
faem & o7 uggeli &
HiH fqe™ & fog Jrar
150. A problem child is generally who has
T YA 9= B SATHIR WEd &
(@) anunsolvable problem  (b) an over protective
T 9HR I parent T JR&THPB
arar-fuar
(c) apoor home (d) a poor heredity QH?TI'\%[
environment T& TRId ]

W 1A

151. Punishmentis a

BRI
(@) negative reinforce (b)

THRIHD G2 bRl FHRIHD GToIhRUT

(¢ nota reinforce atallUdh (d) Both1and?2 a1 3R
ofgd e © 2

positive reinforce

152. The current view of childhood assumes that

U BT IAHH 22 JdT ©
(@) children are similar to (b) children are best treated

adults in most ways as young adults Il I
SGIR dXIb] Y DI a1 39| & =0 J qad
& M & 33T HIT SITell 8

(c) childhood is basicallya  (d)
waiting period d9U-

Y J TP Yiter rafdy

Childhood is a unique
period of growth and

R B TP SIS
3rafer g

153. The Big five personality factors in child psychology are
1A TAIfaH H fom ara PRSP &
(@) neuroticism, openness, (b) neuroticism,
introversion , sociability, extraversion, openness,
locus of control emotional stability,

faférean, RENIEEH sensitivity W
ST, FHTSE, TSR, G,
IBPELEARIIE] YT D @R—cn
Hag=Merd
() neuroticism, (d) neuroticism,

extraversion, openness,
agreeableness,
conscientiousness

gregariousness,
extraversion,
impulsiveness,
conscientiousness

change I faTT 3R

(a)

156.

(a)

157.

(a)

158.

(@]

159.

(a)

(@

160.

TuTdT e, gRT 3R 99, T haR 3Ty §
teacher's scholarship (b) teacher's honesty e
Ry @t sEGR ! SUFERY

teachers making (d) teachers liking for the
students learn and job of teaching gt
understand B &I H’ﬁWWWW%
e SR g ardt

fRrarep

Learning which involves motor organ is called
sensory learning Fad (b) motor learning e
dg SIRCEl

sensory motor learning

verbal learning s (d)
g

ot Hex e

TeTeh b il p1 fawel g1 &
The child's emotions are not characteristic

o Y IuaT intensity  (b) o # <figar quickness
of emotions of emotions

HaT BT TR-IR (d) TaT Pt W uPHfa
UHeIhRul frequent permanent nature of
manifestation of emotions

emotions

378 A B A TP UBR B 3Mad e 87

Which of these is not a type of habit ?

AT Tt amad (b) UH 3Ed Derived

habits
gt Al of these

Neurotic habits
Tif® 3Med Mechanical (d)
habits

WABIS fa gfg-afr wiermn & fou o0 79 & AR
T Hied ITaw! &1 gfG-Afel TR T | ?
According to the Norms prescribed for Stanford-Binet
1.Q. Scale, what is the 1.Q. Range of Moderate Mentally
Retarded children?
50-55 4 HT 70 50-  (b)
55 to approximately 70
20-25¥35-40 20-25t0 (d)
35-40

T 3o e & R H 5 YbR & ST Bl g
RIF TR @137

Which type of learning has Gagne placed at the lowest
position in his learning step?

35-40 ¥ 50-55 35-40 to
50-55
20 ¥ = Below 20

ifega SRATH Lexical  (b) Hdbd HTUTH Signal
learning learning
PLCll Series (d) U AR suffix
Learning learning

P RIRIaRIT & IS 31T o1 o fobq afdfd farar
ST 82

ﬁ@mm, ST, Gh'q:falﬂ Q‘jfalvlﬁ'cp[ Who is described as the father of the scientific study of
3y, 37T, BRI adolescence?
Wﬁw (a) e g Margaret (b) S, W Eﬁﬁ G. Stanley
Mead Hall
154. Effective teaching, by and large, is a function os (c) ﬁETBﬁ%‘P'IH?-f Leta (d) SR Aristotle
Mob. - 01141676717,9312712114 Page 14
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Hollingworth

161.  HTNT &1 ARG 1 Rarn oirell &-

Practical knowledge of language is taught —

(@) @A H (School) (b) ST TR |

In school (Language laboratory)

In the language laboratory

(@) 7T fRreror o (Language (d) WﬂjﬂTﬁ (Language
teaching) instruction)

In language teaching Language instruction

162. SR WU & U &fd St 370! T8 Ie § Advdll §, a8
HEdmdl 8-

A defect in computer programs that prevents them from
running properly is called —

(@) & (Bug) (b) TR (Error)
Bug Error
(c) d¥-9 (Boo-Boo) (d) dR—IRY (Virus)
Boo-Boo Virus
163. HTH-HT (Audio-lingual) UGH (G 1 Tfal ot St
I P P GRd T8I (Rapid Acquistion) TR |
BT (result) BT 21

Audio-lingual method (also known as Sena method)
results in rapid acquisition of ................ .
(@) TG R AT BIDRA (b) UgH iR G &1 ST
reading and speaking skills reading and listening skills

(© SR FIDNA (d) g R UG &1 S

speaking and listening skills  writing and reading skills

164. ST SN s 9 TS T IgTal 7 a8 A

What did Dr. Benjamin Bloom want to promote?

(a) UG DI (b) S PR P feia
appropriate approach higher thinking

© dfa (d) TAER Pl fdb™
Intelligence development of behavior

165. TS & (S1HH) H TR T 31T T 9 872
What do you understand by memory in cognitive

domain?
(@) fERITTIARAI g (b) TH s RUMAA

& IR ¥ ol = AUl o ST
Making judgments about the JYINT H YR BT
value of ideas or materials. ST BT

Using the concept in a new
situation or in unstimulated
use of immersion.

(© o 3ale, &udk AR (d) USd Rl TS THBRI B

RSAT B IS TRUN AT AT GH: U
Understanding meaning, P
translation, interpolation and  Recalling or retrieving
interpretation. previously learned
information.

166. T8 fo=i 1 HEN § foraH SAfa Igd AR faar! 9
RY PR T FHIYH TR UgaTdl 32
What is that thinking called in which a person starts from
many ideas and reaches a “single” solution?

(a)

ICEIRCE (b) SORY ffaq

should be asked divergent thinking

(@]

SRR} e (d) I =

convergent thinking Upward thinking

1. TIiie T T Sreae Riaid 81 IR o0 ol
HI U TR o TR A e T A p a2 3 —

167.

(a)

— G 1 9gIaT ¢ %8 o

Mr. Sajid is a social studies teacher. He gave an

assignment to his students 'How to avoid traffic jam in

the city? They are promoting thinking.

TR R A A (b) SR

both divergent and convergent
convergent

(@

SR d) gfsma

divergent Intelligence

168.

(a)

Intelligence

(©

SR} feia 1 TRieur R | ?

What does divergent thinking test?

(b) TS A ! fafRyar

TS gl SR d) #fa

one correct answer Commemoration

el 7 @ Hi-91 9 ud fasra &1 Rigia 32

169.

(a)

|, fapre et U faf) 7 urei 18l aRaT |
II. AfHRITT 3ieR &7 Rigid
111, TpiepRul &1 Rigid

uniqueness of a person

v. faeTa T & Ao fafiy ufafshanait ae giar g1

Which of the following is/ are principle(s) of growth and

development?

I. Development never follows and pattern
II. Principle of Individual difference.

1. Principle of integration.

IV. Development proceeds from general to specific

responses

11, 111 3R IV ®) 1,11, 13RIV

I, Il and IV I, 11, I and IV

(@]

1, 13RI @ 1,11 8R v

[, 1land Il I, lland IV

RIS 3R ST & o Ager a9 ST ufchar &
.................. Hgl Wl 8, I8 oS! & GHIes e &

170.

(a)
(@]

171.

Rrgid ¥ 9gd Aoyl 3|

. 3B

II. Fga

The process of striking a balance between
accommodation and assimilation is called .......

It is very

important in Piaget's theory of Cognitive development.

I. Adaptation

[l. Equilibration

Only | (b) Bothlandll
Only Il (d) Neither | nor Il

fa@mai g & T = URINTd TPhidd Ao &1 3=

faopan s=i &1 e & R I HIAT 8-

Mob. - 01141676717,9312712114
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The objective of the Centrally Sponsored Integrated
Scheme for Disabled Children is to provide educational
opportunities to disabled children —

(a) TYaferd faemeral # (b) TRy fameral &

in regular schools in special schools

(© Qo faegmeai o (d) SieeH Hed fagmal &

in open schools in Andhajan Mandal schools

172. U RGBT (0N &l & S UfeHT & o s/=ai )
I &HAT UT PRI A6el) & | I U Ie.7Y B Uit
& fore Fofafed ® 3 o1 781 S anfgee
A teacher wants to help the innately talented children of
her class achieve their potential. Which of the following
should he not do to achieve his objective?

(a) 3I% IR-SAPIEHD (b) S8 aad ¥ Fued &t
TR 1 o AR fRref &

CARRIIT| teaching them to deal with
Teaching them to enjoy non-  pressure
academic activities
(© ITITHIIIIDI Y (d) S5 SHAD! GoAIEDHdl
3T BT G B A ol
separating them from their challenging them to enhance
peers their creativity

173. ADHD &1 fa=ailRd =7 g-
The extended form of ADHD is-

(a) offesH (b) el Sfhdle
FRWUfGefact fEuaiiex BRWUfaefact fEgaiiex
autism deficit hyperactivity auto deficit hyperactivity
disorder disorder
(0 9ceH sfhdfie B8 (d) rceH Sftheiie
SN HELNYESEERRSEIRN
Attention Deficit High attention deficit hyperactivity
Disease disorder

174.  3MEsUT (IEP) &1 YUl =0 & 87

What is the full form of |[EP?

(@) fIeme o Iuas SR (b) USRI B FHAR

gfaumg et
Poor facilities available in the officer's poor planning
school

() MU 3= fRreor-fafdy

your own teaching method

(d) o P USTs | ATRaTg!
Negligence in children's
education

177.  WITEH, Yo, TgU1/3faaie 3R e qfe Ja
UG FRal 37
What does stimulation, engagement,
reception/observation and study tourism provide?

(a) USYD! B BT (b) TR e 3R
R o7 AT B 3 St uRfRufeat &1
& g faeed qarem & T GO B9 PR B,
AGE HIAT g I ITER0N UeH &l

Helps managers find
alternatives when facing
difficult situations

Provides practical lessons and
examples of how others cope
with situations similar to

yours

(0 WEIWTEMUSE  (d) FHIBIS Q!
JUTelt &1 fABRId B none of these
I ¥eR T A Aeg
AT ]

Discusses issues and helps
develop or improve
management systems

178. IO &1 UGl TR0T T &7
What is the first step of measurement?
(@ FURATE R AT () Teu B e
deciding what to measure test development
(0 TRI&[Ur T gei (d) ITHIDE TG

test management none of these

179. UIUH®H TR & Tod H JHSHHIU] 6] ARAT 1|

(a) SfEHgers
TIHRAA WH
Individualized Educational

Plan
(0 3fea TgHRmd Wi

Indian Educational Plan

(b) SERMA TIHIA T
Instructional Educational Plan

(d) 3fEdTgareEss e @

Individualized Engage Plan

Explain socialization at primary level school.
(a) THWIREAUEIE (b)) U P T DS T
S Wi  wg-ureTaf o 8T 8, Afep Ram

Tafafet & afeeg wu 9 W & ATy 9§ i
YT o H IB! Hag STt B
W%I There are no strict rules for

175. bt g & Woharan & Wi R 2R 81 8-
Possible signs of success in any business are visible —

(a) ATHRRTA &l & (b) HIUD & ik o
Wﬁ in business valuation

In evaluating personal ability

(c) oIl B HrHTIh
AR H

In social recognition of

professions

176. dfe felt ulen & ouep! San & st el srawe g1
ST dl 319 $HePT alidied fobd TR STei??

If most of the students in your class fail in an
examination, then on whom will you blame it?

d) ?TNTJWWIHT

in business availability

Mob. - 01141676717,9312712114

180.

Children learn skills that help
them to actively participate in
co-curricular activities in
future.

(0 TRierep sl b1 3=t
3Ted, ARTRD forieRy
3R S P 1Y FHeI-
SREIRSIECInIR

Teachers teach children good

habits, civic responsibility and

interaction with society.

learning, but education is
learned through play.

(d) e =i o aifife
Tl R ARAH G4 &
fore Tiefed rar g
The teacher encourages the
children to listen to lectures
on religious values.

FE YR T8 % 41 &d § b YR SRR T FXell &

fo I Rien ot B sazgasdr T8 872
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Why do some Indians argue that Indian customs
demand that there is no need for sex education?

(@) PRl & difear ¥ I
& TR U THGRT et
&, gafere A e @t
BIE AMIRASHT el ¢

Teenagers get information

about sex from the media, so

there is no need for sex
education.

(€ TR TR 3R
HiRepfcrer Yo Tt
gifufaal & fafa
I & fore yafa B

Our traditions and cultural

values are enough to control

such situations.

(b) TUAR X H I Taeh g
G T8 &, S di
& #1 B srazabar
e

There is no sex related

problem in our country,

hence there is no need for
sex education.

(d) O e &1 o
HEAYU! 781 8 o
THR o H HId U= &
INEEIERIS KRS

Giving sex education is not as

important as gaining

knowledge for future
profession in our country.

SaTqdd fem Bt TR Y 3T T IHA 872

What do you understand by the concept of ‘lifelong

education’?
(a) Tayfoemeral & Tka
Iearning in universities
©) K

learning in colleges

(b) ShaToia Far

lifelong learning

(d) TRiefor Tl

teaching school

Rien a8 diet & S 77 & AR iR Az arht
31" 7% fur frum faan &2
‘Education is that thing which makes a man self-reliant
and selfless.” Who gave this idea?

(@) IHd (b) SR

Sam Veda Atharvaveda

(0 g (d)

Rigveda yajurveda
uTeTsT & FuRe Fn g2

What are the determinants of curriculum?

(@) I, UGHd, i
Objective, Method,
Evaluation

(0 TXa, e, srafaaa
Structure, development,
implementation

(b) AT SRR, AT
g, URPpidd HRDB

Basic needs, social aspects,

cultural factors

(d) SAfGRRTd & 3R
IS SR

Personal attention and social

needs

184. HIINSIG UTISUshH b1 RS ¥4 &1 87

What is the main objective of social curriculum?

(a) BHEI & drd JHTSIHRO

socialization among students

(c) THN H dCad dMFT

(b) THISIS SRl DI GRT
HAT

meeting social needs

(d) ST fagm Rram

bring about change in society teaching social sciences

T B ARIND B0 BT TR BT 7 31 82

What does ‘guarantee the physical well-being of the

child’ mean?

(a) MTGTTETa GRe, (b) o= PRI 3R
JTHHRUT, TIYOT 3R TS I Gard 3T,
HE TS HRATI 3T 3R HUS U

Providing emotional security, FHAT, TR ¥ F9 G

socialization, nurturing and FRAT AR U FHRAT|

affection. Keeping the child safe and
free from harm, providing
shelter and clothing,
protecting against illness, and
providing care.

(© WRER-YAE, USSR (d) I & 3R, Thd &,
ey

ECRI i | draad|
Interaction, inspiration and Conversations within the
play. community, at school, in

health clinics.

186. TP e Aifd (@A) 1986 R Foffea HF o @
YR & 7TE 72
Which of the following concepts has been given by the
National Policy on Education (NPE) 19867

(a) fRigorda (b) Rreror e T
teaching elements teaching learning elements
(0 Hdadd (d) UIE TSl dd
basic element lesson plan elements

187. URdN TG $I YfHHT Ud SRV &1 90 &I famia

?%%ﬁﬁm@aﬁﬁﬁ?—wmsﬁﬁm
?
Which of the following is the most appropriate activity to
develop understanding of the role and functioning of the
Indian Parliament?
(a) faw avg &1 7T (b) I U4 Formaral &1
PEIRREIRSC]

Formation of subject matter
Flow diagram of tasks and

responsibilities
(d) galEHE BT Mo

Youth Parliament organized

(0 UG b aRY W
YHER T & 48 |
EEl

Discussion on newspaper

writing on obstruction of

Parliament

188. I fax o fRI&(01 H fr=Ue U1 & TN & ol Jord
Tew@yuf HRUTFT g2
What is the most important reason for using film stories
in teaching social sciences?
@) RumugmdwRzai® (b)) wesl &1 quH A
Eﬁ?\‘ﬂ%ﬂ DHIAT describe events
encourage discussion on a

given story
(© USI-JHd! &I MHYS  (d) THULHT Ja1 ugH
M BT

making textbooks attractive  Providing unilateral

information

189. fufafad Rwrieer ferem < wnufires § mrefie aron
%ﬁwﬁvwm&naﬁaﬁﬁmmaﬁm
r
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Who gave the following recommendation? ‘Health and
physical education should continue to be compulsory
subjects from primary to secondary stages.’

(a) THABE (b) TIHIT® 2000

nkc NCF 2000
(©) TIUS 1986 (d) TTHIE® 2005
NPE 1986 NCF 2005
190. UTeIEd] B W (2005) & o AP Farer
F AT DY ?

Who was the Chairman of the National Steering
Committee for the National Curriculum Framework

(2005)?
(@) .= ORERIFIGETS
Pro. Yashpal Shri Gopal Guru
(© S SITH PRI (d) W HUH
Dr. D.S. closet Pro. Krishna Kant

191.  THd Ua=HA Ufthan B urufies faamea & Rt &1 uder
YRTGRY fafRed a<ie ¥ sférd 8, Riame-
Direct participation of primary school teachers in the
school management process is expected in the following
ways, except —

(a) i Fafon (b) UTGISHH et

policy making course management

() UdY T AHBA (d) TIR TG GBAN

Admission and Enrollment communication and

collaboration

192. Hd RI&T & URIGR a1 Ara-fdr &1 g auft el 9
! geadt YAETsi & IR T Hag R Jobd o, Ram-
School education professionals can help parents
navigate their changing roles in all of the following ways,

except:
(a) TRWFAIGHSFTAS (b)) W UEH H=A &
to provide consultation

to provide expertise

(€ X&s gAfT UG dRA (d) IS 3R gard Ue
& PP

to provide academic support to provide food and
medicines

193. A&7 ST B {5 UHR & i st 1 SUANT Bil 87
What types of data are used in educational research?
(a) faeRumers Himdm  (b) '
fa=eyor fa=awor
descriptive statistical analysis inferential statistical analysis
(© FEH () FHIPE T

both of these none of these

194. TR AT & favaf & 3ieqg &1 Hewd 39T §,
Hifb T I .......

The study of social science subjects is important because
children learn from it...

(a) THIS 3R 3P GAfGRU (b)Y ! geraff &I
D T THhd & Tegih R Thd &

Can understand society and  Can evaluate ghost incidents

its environment
(©) P e Hi (d) dHdd b IR AR

can conserve natural Can learn about democracy
resources in detail

195. IS THIS & THICR! B [dHRId ® & forg

fFrafafed & 9 ge9 Sfud iy - &2
Which of the following is the most appropriate method
for developing understanding of social problems?

(@) o fey (b) YftyepT Frafe

photo essay role play
(€ T TR (d) TafrH UgxHE
case study movie screening

196. fohar-sam semla Uy I I & urs -

Activity based questions on social science lesson —
() foaTaRUE 910 § (b) TG
make controversial make longer

© fxaeTag (d) SMHEERR s §

make detailed make enjoyable

197. Rad WM F 1Y T arey foar ma g, e Ifad wsg &t

afd Y-

A lot of people. .......... turned up for the show.

A sentence has been given with a blank to be filled with
an appropriate word. Choose the correct alternative.

A lot of people ......... turned up for the show.
(@) Have (b) Was
(€ Is (d) Has

198. fofafed uy & or fawey 33 U € 39 fawe &1 gfu

S TR & 3 Y FaTH Y A e Bl 87

In the following question, out of the given four
alternatives, select the alternative which best expresses
the meaning of the Idiom/Phrase. To be all ears.

(a) <US Y T (b) & T IRIGH & FU H
Escape punishment BT AT

Serve as contribution for
€ SYPAIAGH S A (d) RIFFRO

To listen eagerly or curiously  Transfer

199. ofiage DIwd R PRl & — & Tgrrdr SRl g

Life skills education helps adolescents to .
(a) RIR® fdepr, Alex (b) TR HEY TN TUT R
faeprar SR Wi feere 3R e i J
Physical development, motor St &1 UaY B
development and language  To build healthy relationships
development and manage life in a healthy
and productive way

(0 ST e IR (d) RIS o H SFA
HHGIRAI DI UgdM B settling into professional life

to identify their strengths and

weaknesses

200. UHH FHe H TGOS JHIAT ¥ Yl-

The most respected form in ancient art was-

(@) qI¥x> (b) IR W FREsR
dance form painting on the wall
() TEIRIY (d) Tid Td Eid
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Handicraft songs and music
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